TRIGONOMETRIC RATIOS

L GIVEN a right triangle A JKL with
> angles indicated 30 — 60 — 90,
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Sine 60 = opposite swl? A Sine 30 = opposite si (.3 -—
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Cosine 60 = adjacent si t.e - — Cosine 30 = adjacent Sld.e -
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Tangent 60 = 2BRositeside _ ~_ Tangent 30 = 2ERositeside _ —
adjacent side [l adjacent side Jjl

Example of the ratios with numbers:
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. opposite side 4 . opposite side 3
Sine 60 = —2& — == Sine 30 = —F& — ==
hypotenruse side § hypotenruse side §
. adjacent side 3 . adjacent side 4
Cosine 60 = ! — == | Cosine 30 = ! — ==
hypotenruse side § hypotenruse side §
opposite side 4 opposite side 3
Tangent 60 = 222212 _ — | Tangent 30 = —PPO2 222 _ —
adjacent side 3 adjacent side 4




